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V . Vo, Vo, Lo data
V. =(Mo+ Lo)l2
Vioe=V /0,95
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logV1o=-0,35(-u-. ]2
logL o =-0,35U)~Us7d?

- |OgV0:—0,35[J)\‘U557]2

“2 1570 Adaptation: A, =557,
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log(V - m)=-0.02
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Threshold
t:=0,00
V4=0,04

uy=(A - 550) / 50
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600 700 A/nm
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u=( — 550) / 50
log 0 =-0,35[)-u-]?
Lio=L /044 log ©=-0,35ly-u ]2
Lio, L, Co, Loy 0 Adaptation: A\~ =570
10 'i' \s‘i7g¢' Te!

Li=(Cot o)f2
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i % % log(lL m)=-0,34
Y L =044
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3 Uy
600 700 A/nm

L ,Lj data
L =(Cot )2

u=(\ — 550) / 50
10g0=-0,35[\~u:]?
Lo=L /044 logL o=-0,35~Us7d?
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log(L - m)=-0,39
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: U
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uy=(A — 550) / 50
log©o=-0,35uy-u 12
logLo=-0,35[\—Us7q?
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I ° log(
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L ,Lj data
L =(Mo+ 0)/2
Lo=L. /081
LMoL, oL

uy=(A — 550) / 5(
logVo=-0,35[u)-u e
log -=-0,35u\-u 1%

Adaptation: A, =570

maximum
log(L m)=-0,08]
“ m=0,81
~  Threshold
T=0,00 '
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700 A/nm
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L ,Lj data

L =(Cot+ )2

Lo=L /0,44

L, Gk, s L

uy=(A - 550) / 50
log 0 =-0,35[u)-u- ]?
log ¢=-0,35u)-u 12

Adaptation: A. =570

570
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b -0

== Aelm=0;

= oL Thrashold
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=[ ot o2 log 0=-0,35[\-u ]?
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ta=0,00
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V ., Vo, Vo Lo data
V. =(Mo+ Lo)l2
Vio=V /0,98
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uy=(A - 550) / 50
log!/10=-0,35l-u-]3
logL o =-0,35[)—Us7d?
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L =(Mo+ o)/2
Lo=L /0,82
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L m=0,82
Threshold
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600 700 A/nm

u=( - 550) / 50
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log 0=-0,35l)-u ]2
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/02620,

1,0 . S =
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il ’ s log(L -m=-03
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L =(Cot o)/2
Lio=L /0,46
Lio, L -, Co, Lo,

u=( - 550) / 50
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TUB-test chart EE45; Relative elementary colour vision

Sensitivities logLMS-R17_M$and combinations; thresholg=D,00 (left) and 0,03 (right)
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/ \\Lo
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L ,Lj data
L.=(Mo+ o)f2
Lo=L /0,82
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uy=(A — 550) / 50
logV1o=-0,35[u\-u e
log 0=-0,35u\-u 1%

Adaptation: A, =570]

maximum
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~ <Threshold .
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L ,Lj data
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Lo=L /0,46

L CoL 1, a0 L

uy=(A - 550) / 50
log 0 =-0,35[u)-u-]?
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Adaptation: A =570
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=[ =M |=| 6-M|/0,81 |ogy=-0,35fuy-u. - ]?

Ye=M == =[ c-B]/0,81  Adaptation: A =520
570

maximum

Ye

Threshold
t:=0,03

EE451-8A

AN
Z

1o Ae|dsIp Jo Juswainseaw pue uoneneAs 1o} uoledldde
Sd'/ 4ad dN01S¥33/5¥33-T080€20¢ ‘uonensibal gn i

ndino ju

P02 :|Jeldrew 9Nl

‘:ﬁ? J




